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5 ] < 1
_ _@gcm, BU = 8 cm ang } 5 em
" % FIs L =Y .
Langle _dicular dropped from B (b)
h : 3| o PEA - T
o TAB RS P | of radius BD (with
|||I 112 . : _] \.l' LIII k
1. deACEVT o at P nd Q respectively (e)
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| 1= L all
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- ' Consider

the fullnwin.g for the e
that follow : %

eL4 three (03) itoms

P " C |
| 4§ | 2 n thEE Biven hﬁ‘mw, a crcle ig inscribed in -
R | _ ; e a8
A% 9 C o | b T‘&tt.ﬁ'l'lmﬂ at the corner P Yhat
AALCemME 3 .
5 I l\\ mea::res N square at the corner B
| are drawmn.
S
R j’/ :
1. What is the ! 1 '
(a) 4-4 cml
(b) i34 CIO
(¢) ::j'lEﬂ ¢l \ \
N Kl 5
Q (d) o 2 cm ‘
- 9
What is the area of the circle :
i"’ L]
~hat iz s;n © (_‘q_'l_lﬂ.l to !
9. If£ABD =0, then what 1 . Seore -
(a) 04 a5 AL -
" (¢) BHOm gquare cm
cm
() 06 = 18 aqanre
| (d) 08
| (3-C)




he relation between x and y ?

If y = 15, then what is £ ACB equal to ?
(a) 30°

(b) 40

(d) 60°

INBY-D-MTK

(d) Hi)

12. 1§ the median (P and mode 'Q- Rr’ltlsf}‘ the
relation 7(Q ~ P) = 9R. then what is the valye
of R ?

(a) 6

(b) 5

(e) 3

d 1
Consider the following data for the next
two (02) items that follow :

Class 40-50 | 50-60 | 60-70 | 70- 80D

Frequency 4 3 1 2

13.  What is the mean of the distribution ?
(a) 81
(b) 52
(¢) b4
(d) 56

(7-C)
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il
: square sheet of side length 44 em is rolled
e ts sides to form a cylinder by
making opposite edges just to touch each
other. What is the volume of the eylinder ?
22
Take = —) 20

e 7
a) 6776 cubic em
(b) 6248 cubic em

e} 0896 cubic em

(d) 5680 cubi C Cm

INBY-D-MTK (9-C)
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K= (x| x 2+4k, where k=0, 1 2,3,...24).

Let S be a subset of X such that the sum of no
two elements of S is 100. What is the
maximum possible number of elements in 87

(a) 10

(b) 11
(c) 12
(d) 13

The perimeter of a sector of a circle of radius
52 cm is 164 em. What is the area of the
sector ?

(a)  15'6 square em

(B - 4

o |

square ¢cm
(¢) 14-4 square em

(d)  14-1 square em
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28.

v q odd, where p o

a integer:

"[" boaq I8 -:Illll

q :'T" i"-‘"ll'l

What is the area of the circle 0 2

21),

£ : An arc of length 7 em

iz subtends an angle 30° at the
centre of C.

.+ A chord of length 10 ecm

= subtends an angle 90° at the
centre of C.

Question : 18 triangle A right angled ?
Statement I ; The length of the line
segment joining the

mid-points of two sides of A
is half of the third side
of A.

Statement IT:  The angles of A are in the

F
l.lhf li
'IL ¥
Mtha ol Lo Iungl"l.' Aiden

I\ s ol the peis &
are 26 am el 24 em “I“‘

Wieation Whni

1] Lo

iength  of the

|1hr|rl_4'--'.|_ pic)as 7

Hfrrhr; i
nent | .Trlll’ Jlt'l.l.ﬂ""‘!-'- of & pare m e

ratio 1 :2-9

Statement I1 ! The

length of the
perpendicular drawn on the
longest side of A from its

opposite vertex is 6-72 em.

30. A chord PQ of the circle C divides it into two
segments such that 3 times the area of the

major segment is 4 times the area of the minor

segment.

Question :  What is the radius of C ?

Statement I : Area of the minor segment 18
66 square cm.

Statement II :  Area of the major segment 18

ratio 1:2: 3.

(13

—C)

88 square cm.
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19T ¢
L~ B/55
)@ :
- the Question can be

10
i fiis U
ne of the Statements alone
et 'n_l. ]

§9q ik
]

L, N HF:EFF!? :
%, . Ryt 71000

| P S
s VLN ER
Iy the «

Stion if the Question can be
mnnge S O
STEL =t

p O | by either Statement alone.

_.-:-\.l.".':':"

.- option if the Question can be
.J__I . o

e T
i TL A -
1L

1 hy using both the Statements

ansSwerss

¥ Toey =s cagether:
s

hut cannot be answered by

L
wrks

. pithel Statement alone.

B 5 em . Choose this option if the Question
ot be answered even by using both
ciatements together.

3C =4 cm

&,

24,

YY5 (where X, Y are digits) 18

L
'}Tili'

A number Z
divisible by 25.

21.

Question :  What is the value of X 7

The number 18

divisible by 9.

Statement 1 given

Statement II : X > 5.

JNBY-D-MTK

-----

25.

Clreeglfion

Statement [

Sstatement IT

vanlues of &,

) of the

What are the unigue
b and o if 2 18 A

efiiaLion uﬂl"!
Ratio of ¢ to ais 1

Ratio of b to & is (= 5/2).

l':.;h'“!."ff.f””_ b s m = fi., where m, fn are non-Zero

numbers 7

Statement I :

I
it A
n

Statement I ; m > 2n.

Can a circle be drawn through the
points A, B and C ?

Question :

AB=5cm, BC=5cm,

CA =6 cm.

Statement I :

AB=3cm, BC=4cm,
CA =T cm.

Statemendt II :

x and y are consecutive odd integers.

Question: Can the value of (x+Yy)

determined uniquely ?

Statement I : (x + y)‘l’ = 256.

Statement I : (X + };}3 < 16.

be
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i.!l'i"i -.'.iffl ."i!r o= ljh
.J“frl'-" ’ &
yBCD 15 of height 2x standg at g 41,
AN TS 536 ; 5 he square field. If APQ o f
An PLS L S wjual to ¢
i) i col {4 ELE |
i Hi
)
08 G) : 42.
L + sin 9) (3
== Hh} 8) i
* oo hall 18 n]:-*“.{‘:l :'II'H’f b H]l'l.!l”{-r H“”l’j
¢|'|§'I-.'i.  rol = I
:;:], 1 ] w-|j"|] :_;r':-._r are IT].'.i(I'l‘ ll-“:“lﬂ t.h{_:_- “”‘Lh‘{"
I R : ;
> o of iron. What is the ratio of the Surface
S ¢ the larger ball to the sum of the
| < a qreas of all the smaller ballg ?
= B L . surface < 43.
2° W 6 o
li"l_,l'.r
Fy & 0o
0-70
4] 1
40. A triangle ABC has been divided ito four
~ smaller triangles P, Q, R, S whose Perimeters
1 PR are 16 cm, 12 ¢cm, 4 em and 12 em reéspectively, 4.
iiii gv P, K and S contain the vertices A, B and C
45° 819 3
4 respectively. What is the perimeter of the
e} " triangle ABC ?
~-{1 a1
(a) 18 em
(b) 20 cm
(c)  22em
(d)  2dem
JNBY—&MTK

(17-C)

Whn L is the

(a)
(h)
['fJ

(ed)

Whay i q

(] + {_'H‘r_:"j i

(a)
(h)

(e)

what is the va] ue of g 2

(a)

(b)

(c)

(d)

A person on the top of
observes

coming directly towards it.

Value op ®08% goo con? 5o
& < = -- | E

e B0e . oot 4op

4 tan 13 tan

2 %7 tan 53¢ 14, T 9
3
4
5

8 Value of
{1 *+ Cog ) ( R Cos )

{ &
I * tan 0)(1 & !-Einﬂi'[l

21 = Bin §) 7
()
1
2
H+Ei“”‘2=ﬂ, O<e< E then
2

B3 wia ws =rHE

4 vertical tower
a4 car moving at g uniform speed

If it takes

6 minutes for the angle of depression to

change

from 30° ¢o 45°, and further

t minutes to reach the tower, which one of the
following is correct

(a)
(b)
(c)
(d)

T7T<t<8§
8<t<83
83<t<86
86<t<89




33.

i ,:I:ég!.lll!.[j_.llf_z'

JNBY-D-MTK

. area of the cir le I“l‘illrl'ﬁir!HH
i
. , . V)
| 1 1 A (rinngle witlh e ]!”1
,_-.'l!'h'l" “’"I}
: 1R NT]

it ey and U o

ATATE L I
squil

I'|.

. she total surface are: : .
Nwo LIMES aa total area of g solid

. 1+ cireular cvlinder is three times jtg curved
_r.|'l': 1: L i n

= o area. If h is the height and A
QIriat -
.« of the base ol the cylinder, thep which

=1l
i L

¢ +he following s correct ?

- T
gne ok ¢

(al h=T

, 1 _ e
D ==
) fﬂ = 3T
1 2h =471

A floor of a big hall has dimensions
30 m 60 em and 23 m 40 em. It is to be paved
with square tiles of same size. What is the

minimum number of tiles required ?

(a) 30

:;|i{|}j§||1g!_fjif'||_r_a,;v}r,i,:.li.-l.':':'.. -

a6,

36.

37.

TN Fe Ili"llfl
1B Fria ot b ;

| ' l':lrr."']'ll 4 hﬂr.*xr “
il il b
a“rTnulllh'-u
(h) :
) TNubag
LNl | :
A Mitukey
Lely

1'“- IHII.‘JI““'H

Cgulatery|

" N8 _
cirele, whlt_‘h ribed in the

Bame

the tfollowing ig COTTRY 9

2§ B T

If the length of 4

2
66 = %0, then by what percent should

Tectangle is increased by

the width
of the rectangle he decreased in order tg

maintain the same areg ?

(a)  50%
(b) 45%
(e) 40%

(d) 35%

What is the maximum area that can be
covered by three non-intersecting ecircles

drawn inside a rectangle of sides 8 em and
12 cm ?

(a)  16m square ¢m
(b)  18n square cm
(¢) 20m square cm

(d) 247 square cm
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1 italementy i reRhee:

'] r
‘I. : | !4 !’]t‘t .I_ [} | | Ij|| 1;‘: .'-,J I
' ) + cla—b) (x ) (X =~ b) -

fficient of x° is 0,

sefficient of x is (a — b) (b.

e

statements given

rr___hjd'fw

Neither 1 nor 2

| f:) fl_f; — F!j.

aboye 18/ay. |

55,

I*f.l 'I'Fﬂf.l'ljllllr.II||

F'iai W Fiid AT if -

il FHerfs i} QUara 4 £ '8 2

(41) |, 4

)

(c) 9, 16

(cl) 4, 16

¥ f-: i . " . ]
fx=maq4py, I8 Ji andy w =20 . #b

4a 4 4h { &+l

then what is the value of (% - arf (y = bt
(a) u'ﬁ
(h) b*



, right-angled triangle with
Ty ¥ , B and 18t I i A length of gy,

- drawn from vertex A on the

then what is

e
[,

| S {BC is a rhombus whose three vertices lie
I ' a circle with centre at O, If the area of the
r [l A L
) Sierg - B .
i rhombus is 32V3 square cm, then what is the
T o LR 1 7
¥ 4 ¢m
(b)  6cm
(0} 5 CIll
(d) 16 em

the valye of

410,

Sideg

20,

INBY-D-MTK

e ",-I1I|tji.u||||||.[n'lH|.j"i-"" -

(19-C)

(¢l

10) . D < 19

J'.I'L -__r.lllii Cube i —
B L Nt  va - ”

Volume ".'w'hul. 18 the raei. i
TPI' 1_II|!- Hiﬁ_'l-ll i :_lh‘_ ko !r J» ‘-' _-Hl';:lr' ATy
\a) 2.1
(b) 3.5
() 4.3
(d) 5.3
The length of 4 diagonal of g cuboid is 11 ¢m

The surface areq 1 240 square em. What is

the sum of its length, breadth ang height ?

(a) 16 ecm
(b) 17 em
(¢) 18 em
(d) 19em
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‘A TR 1

; .!_.’:_: and il ]-.*,El:-nr positive
A
" ntegers  SUER' that  aebaged 06 |
1 a1 i
] | b I :'f'- i | 55 | .l1 1.} b b ;
.. el W |':|;|r ILI”:“ Ty I e =4 1
5 '\-|'|| 1 T J | | . ™ 1 f‘I.I' 1lltl
the THTUTHEEL O Possible values or S8 9 the, \fied in .
. ting 1, ' 12 " . Dl
H | ”""I‘ ||-H.1 ey ]
Ty i g il | r r:.
{ lne [ 1 h‘. A L Il ! =8 il i Ir.h i ¥ : .
| / ' (8} tha fl-.b'.
:. I i e . \ y r '.""5 {"‘. I"-II[T:IE .I"‘rll'
| Of 12
B
|.'|'._ =.Nr'| [
; € =1 Ok ™| . Tiein
1.'--. v \ .-'JL} II’- |' 'rt':."\,;' |}_I | fr: .y
- " Nicie Ni
1 Ly Y ¢} 1
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‘f"‘ |j-.
L fH'H
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; I ¥ l’lf ]‘, m"’-{'TI'u:-:r 'F,
_ i
- ﬂTlIH "
r ot
(cl) o s 7
30 305 g Kfficiene +1 Miem
11 bher Q7 14" 18 {'ln'lmhjp l'«"r' / 'r.nrf:-' o 1] r""””fi**n y
. L ] o F‘Fﬁr“.r-'r’!..‘f "'f
a AR ~ P A~ Bm
37 but not 83 AR S & \> . e

1'|'
U_ i '['-'E_If_‘_ _?_ 1

2%\ 2 (@

g3 but not 37
Both 37 and 83

Oonsider the following statements ;

logyo 50 is a rational number,

2. logipo 10 1s an irrational number.

Which of the statements given ahove is/are

F
COrTect ‘,.;'

ALY c
‘i
0} Zonly T":‘:-

" (o I Yo
¢/ Both 1 and 92 PR B ['_4

ia) 1on j_"r'

Neither 1 nor 2

i _-II'_III.:I.:I- |

65, Threg taps A, B and C

“gether eap fill
. : r . N - “an]
In 6 hours. lap ¢ alone ean fill the tank ;
- En
12 hours, T, fill the tank, when 5 1S empty an
- —_ ? 0 a.l.
the three taps are

working t hourg,

(b) 2

66. A, B and C can complete a work in x, 1-5x% and

2x days respectively. If they complete the work
together, in what ratio should they be paid ?

(a) 2:3:4

(b) 6:4:3

() 3:2:1

(d) 4:8:2

(256-C)
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gquations ar "I"1i|TTIl-.- '

then what is the valye of

“ (cosec O — cot BFE, 0<g< X 4

2

(23~

60.

C)

What |
0=

(a) 1
(b) 9
€)= 4
d) 6

What is the value of x that satisfies

-.} I . 5 |
4 cos” 30° + 2x sin 30° - cot™ 30° —

(a) 1
(h) 2
(¢) 3
d) 6

© tan 15° tan 75°
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‘Bative) g
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i sHHY: 15 ﬁ-T—?E. 25 ﬁ;ﬂ-a'
& FAUA § wdt § | gfe
il 8, df errel 72 6 B
Te STt 2

L G
n 1), 2 [(AlVil=
R L

6, then what is the meanef the

) then '.'.-[h'l' in‘ H'H_' "'”Illu

79,
he natural numberg, What s
value of (m +n) such that
isible by 121 ?

Bﬂl

numbers is 2160 and their

sum of the squares of the two

() 4

(@) N Egative

(b)  Positive

() Non-negative
(d)  Non-positive

There are four bells

of 15 minutes,

which ring at an interval
25 minutes, 35 minutes and
45 minutes respectively. If all of them ring at
9 AM,, how many more times will they ring
together in the next 72 hours ? F
515 20t M
) SN ..

(@ O - S\ S & 9 L PR



(d)y 2337
e “[.. the sum § = 97 279 9 o ill{f”“"“‘" thip l"anwin[-: Matemens,
: ﬁ'x | e\ ' ;’ :flr 'f ol all III“'-'.'UI‘H ”'i:“‘.lﬂ . R L
1, The number of factors is 24
2. The sum of all tactors is 1170
| Which of the above statements i8/are enrrmes 1
e | _ va —1
l and y = = then what is (a) 1only

s y°? (b) 2 only

1Ld x

60 (¢) Both1and?2

3 (d) Neither 1 nor 2

() : e .

? 73. Consider a 6-digit number of the

_ed of a boat in still water is 15 km/hr. XYXYXY. The number is divisible by -

i w1 !

| I.[ iravel 42 km downstream and 28 km
bt call WiaYh )
' +eam in the same time, then what is the (a) 3and7only
nstred

H . l}
—eed of the strealll :

9-5 km/hr 2 _
::rj,_f_"r- ——
3 km/h1 ST~ —
1 C A 15 =
h km/hr

|l'| Iﬂl-:hlll'

(b) 7 and 13 only

(¢) 3,13 and 37 only

2
e @ 3,7,13 and 37

B

g | RS

— S =

(us,
LF
(27-C)

AP Yot EEY /I
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I
¥
I
by O a. o .Hh.l 3 ::.-|,[|:-:I_1.I
- I 'y = Ge = 9d 12¢ = 181, then what i Ll

T » i
bYfle+d+ e+ 1)

. . ¢ are NON-zero real numbers such that
[ a, »»

B a+b+€= 0. then what are the roots of the
: 2

] _-I‘ lF - ' — { ‘.‘J
ﬁq:];{ilut‘l ax_ +bx+cC ,
L

9 1+ u*;',ﬂ}

83 Twelve percent of bananas bought by a fruit

endor got lost during transportation. On
Ve E

elling the remaining bananas, the vendor's

verall profit turned out to be 4%. If the
i i
sendor had not lost any bananas and had sold

them at the price of the remaining bananas,

shat would have been his profit percentage ?

i
7 1)

XS L=
= A\ .Du__;

HA4 i

85.

B86.

i

Lhie

% e BOBILive
Y+ 3V2) (R

POHI LIV

L #
oy jUATre PO of
. WA § |
” o 1.|:'ii"i| 'n"-"'|'|j!1' i 1
--'Ihlﬁ‘r‘f' flll']-t 'I_ ry |, \blir
r (] |r|l [ '.-'H' r"

@) 24 3
) 3- /5
\C) T =1
(d) V7 41

When eve
1En EVETY even POWer of o
(greater than 1)

YETY odd inteoes
is divided by s |
remainder ?

—— :
*s WhNat 13 the

a) 3
(b) 2
) B

(d) The remainder is not necessarily 1.

Consider the following statements -

l. Ifn is a natural number, then the

n(n? +2)

number 1s also a natural

number,

2. If mis an odd integer, then the number
m?* +4m? +11
16

1S an integer.

Which of the statements given above is/are

correct 7
(a) 1only
(b) 2only

(¢) Both land 2

(d) Neither 1 nor 2
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_ ~hat are the roots of the

a0,

{] i_!lll.'-II
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|, a/t
4 'r_'I:"r-‘:. =

. of bananas bought by a fruit

rwelve percer

number) . Jost during transportation. On

:_ (T
ior Bv

remaining bananas, the vendor's

turned out to be 4%. If the

pa__rﬁ I‘F '_:I," olling ”_.I.r

averall [.IJ""J[H-
dor had not lost any bananas and had gold
P 1]

the price of the remaining bananas,

them Al
i 1 L ] 1 ¥ r.l’
hat would have been his profit percentage

A th

| O -~
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r,-' "--J' I-_- }r’ F
| AT
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| 5
W
§

Lk

B9
| ]
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86.

I 0
i
{ ! [ b
1 4 .I'I ol | FTT
YL} (huge
[”r 'IT_]hll.l. r { j.-lllli: I . ‘I. AT r-ll."rf “1_
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II“'I P, I 'If Idr * 200 "
i d
Vil
(hy .
i .'II:..-"
"'J .J'Ilr
1
hl]

Wl]" II ‘-||I & .
! i 1 of r ‘r 1y II
I .L [ 'Illr!'lr ¥ i r IE‘ L :1.
' ? . F

L) i ivided by &

rHr‘['“Ll-r- th

an

remaindey 9 j, what is the

(a) 7
(h) 9
(e) 1
(cl)

Iy d
Ihe remainder is not necessarily 1.

Consider the tollowing statements :

1. Ifnis anatural number, then the

n.{nl“:E +2) .

number is also a natural

number.

9. If mis an odd integer, then the number

" N T
= I_-i»m = 1—-1- 18 an integer.
16

i 5 oy 18 lt &
Which of the statements given above is/are

correct 7

(n) 1only

(h) 2 only

(¢) Bothl and 2
()  Neither 1 nor 2
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1 busj Nnery. Thl""\»’

3 4 : R

O 84
by them 18 in the
LI the profit

'lll'-\.ll_l:

dth.riiJlJI.mi 18
and
the

to time Money
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by a train to Cross a man

1n another train 1S 10 seconds, when
the other train is travelling in the Opposite

direction. However, it takes 20 seconds, if both
the trains are travelling in the same direction,
The length of the first train is 200 m and that
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(a) 60 km/hy ‘%‘ nglé.
(b) 56 km/hr

(¢) 54 km/hr
(d) 52 km/hr
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